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6+ XeFe (N)
2+ XeF; (3)
6+ HXeO4 ()
2+ XeaFs* (1)

8+ XeOsF; ()

NN 2KCIO3(g) = 2KCl(s) +302g  .N

]

002 NNMIN CaFy(s) + 2H2S04(conc) = Ca(HSO4)2(aq) + 2HF(g)

IMNDMN OF2(g) + 20H (aq) = O2(g) + 2F(g) + H20()

o

MIN 2H2Sg) + 3032 = 2SO + 2H0() .7
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NHCl <> NH; +CI"
NH] +H,0 < NH,+ H,0' K

Ka =_"'=—_‘=5.56']0_“'
K, 18x10”
g, SBEIEON, 2 _soq g —y
[NH[ 0.01-x
x =,/(0.01-5.56-10-19)

(NN DM NP T2

x=[H,0"1=236-10" *
-6 —-100% = 0.0235% < 5%
pH =—1og[2.36-10 "] =5.6 0.01
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pnn NN OH -n» N2 IN DTP XYM
pOH=14.00-pH = 14,00 - 13.12=0.88
[OH}=107"%=0.132M
<OH -1 91 S wInn 112710 IR 2WN) NURID 2% Pnn nNd

[OH7=0.132M x10.0m1./250.0m].=0.00528M
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0.010L=0.00528M=5.28x10-* mol

DY NT 1P 21.5mL Sw n9a HCL 5w i10v0n sy ano) it 0¥n 1000

arened npw HCL De onh heon

5.28x10 “mol

=246x107°M : HCl nonn 5w Han nX avn 7%
0.0215L
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10.87atm _

20.5atm

2.66atm
C.H.)=
WCH)= e

7(C.H, )=1-0.13-0.53=0.34
AN M SV nonn 1008 NN VN NN MoRn M2
[0.:53-M(CH, )+ 0.13-M(C 1, )+ 0.3 M(C.H, )] 1mol =
Type equation here,  0-53%16+0.34x30+0.13x44 =8.48+102+5.72 =24 4g
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z(CH,) Sva 100 = 34.8%
- 5.72

Zr((‘sﬂa)=m'lm=23.4‘%

2(CH ) =100%—23.4% - 34.8% = 41.8%
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SO,CL(g) & SO,(@+Cl,(g)
0.183mol 1000
-X +X +X nan
0.183-x X X 2Pwn el
2
X
=—=61] = 0.178mol
Kc 0183 —x 6.1 X mo
_ Mo RT (0183 + x)RT _ (0.183 + 0.178)mol - 0.08206 52 - 600K
WE=" e Vv . 1.00L
l = 17.8atm
Nior = Mg, + Ngp, + g, =
=(0183 —x) +x+x=0183 +x
1
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Hy(g) + I;(g) = 2HI(g)

£192) NN ONMININN
B [HI]? 07867 T
T [H,)[] T 0.107-0.107 ~ T
2HI(g) = Hz(g) + 12(9)
H,1[1,] 0.107-0.107
- [Ha1l12] Ea—

T O[HI]Z T 0.7862



